
Math 1         Name:   KEY 
 

Unit 4.2 Multiplying powers with the same base PRACTICE    Period: _____ 
 

Rewrite each expression using each base only once. 
 
1.  45 ∙ 43    2. 24 ∙ 26 ∙ 22   3. 56 ∙ 5−2 ∙ 5−1   
 48     212     53 
  
 
4.  10−4 ∙ 104 ∙ 102   5. 79 ∙ 73 ∙ 7−10   6. 92 ∙ 9−8 ∙ 96 
 102     72     90  or  1 
 
 
Simplify each expression. 
 
7.  𝑧8𝑧5    8. −4𝑘−3 ∙ 6𝑘4   9. (−5𝑏3)(−3𝑏5)   
 𝑧13     −24𝑘     15𝑏8 
   
 
10. (13𝑥−8)(3𝑥10)   11. (−2ℎ5)(4ℎ−3)   12. −8𝑛 ∙ 11𝑛5 
 39𝑥2     −8ℎ2     −88𝑛6 
 
 
13. 𝑚𝑛2 ∙ 𝑚2𝑛−4 ∙ 𝑚𝑛−1  14. (6𝑎3𝑏−2)(−4𝑎𝑏−8)  15. (12𝑚𝑛)(−𝑚3𝑛−2𝑝5)(2𝑚) 

 
𝑚4

𝑛3      
−24𝑎4

𝑏10      
−24𝑚5𝑝5

𝑛
 

    
 
Write each answer in scientific notation. 

 
16. The population of a country in 1950 was 6.2 × 107.  The population in 2030 is projected to be 3 × 102 times the 1950 
 population.  If the projection is correct, what will the population of the country be in 2030? 
 
 Population of 1.86 ×  1010 
 
 
17. The area of land that Rhode Island covers is approximately 1.5 × 103 square miles.  The area of land that Alaska covers is a 
 little more than 4.3 × 102 times the land area of Rhode Island.  What is the approximate area of Alaska in square miles? 
    
 6.45 ×  105 𝑚𝑖2 
 
 
Simplify each expression. 
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Complete each equation. 
 
27. 9−2 ∙ 94 = 9   28. 5    ∙ 53 = 52   29. 28 ∙ 2   = 2−2   
            
 2     −1     −10  
 
 

30. 𝑧     ∙ 𝑧−5 = 𝑧3   31. 𝑚
1

3 ∙ 𝑚
1

6 ∙ 𝑚    = 𝑚2  32. 𝑑7 ∙ 𝑑−13 ∙ 𝑑−9 = 𝑑 
 

 8     
3

2
     −15 

 
 
Simplify each expression.  Write each answer in scientific notation. 
 
33. (7 × 1017)(8 × 10−28)    34. (4 × 10−11)(0.8 × 107)   
 
 5.6 ×  10−10      3.2 ×  10−4  
 
 
35. (0.9 × 1015)(0.1 × 10−6)    36. (0.8 × 105)(0.6 × 10−17)   
 
 9.0 ×  107      4.8 ×  10−13  
 
 
37. (0.5 × 103)(0.6 × 100)    38. (0.2 × 1011)(0.4 × 10−14) 
 
 3.0 ×  102      8.0 ×  10−5 
 
 
39. The diameter of the moon is approximately 3.5 × 103 kilometers. 
 a. The diameter of Earth is approximately 3.7 times the diameter of the moon. 
  Determine the diameter of Earth.  Write your answer in scientific notation. 
 b. The distance from the center of Earth to the center of the moon is approximately 30 times the diameter of Earth. 
  Determine the distance from the center of Earth to the center of the moon.   
  Write your answer in scientific notation. 
 
 a)  1.295 ×  104 𝑘𝑚  b)  3.885 × 105 𝑘𝑚 
 
 
 
 
 
 
 
Simplify each expression.   
 

40. 
1

𝑛−8∙𝑛3
    41. 

1

𝑥4∙𝑥−9    42. 7𝑘4(−2𝑘6 − 𝑘) 

 
 𝑛5     𝑥5     −14𝑘10 − 7𝑘5  
 
 
 

43. −2𝑥2 (−3𝑥
1

2 + 5)  44. 4𝑥 ∙ 4𝑥+1 ∙ 4   45. (𝑛 + 2)5(𝑛 + 2)−3 

 

 6𝑥
5

2 − 10𝑥2    42𝑥+2     (𝑛 + 2)2  
 


